ANALYSIS USING BOOSTER CABLE AS OUTER LOOP

April 16, 2019

40 Meters

L Mew measurement - AntScope — O x

File Edit View Configure Measurement Help

D b m S B o/ Fro oes T

Rapge:|7.190 £ 0150 MHE, 4008 polnts SYWR

Z0= 5010 Ohm

Fq = [7.149|MHz

SWR = 1.26

Return loss = 18,71 dB
Z =548 - jin.2 Ohm
N [Z] = 56.0 Thm

[rho| = 0,12, phase = -60.6 5

6 C=1978 pF
\ Zpar = 574 - j278.7 Ohm

Cpari= 79 pF
Cable: Length(1/4) = £.92 m, Length(1/2) = 13.84/m
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30 Meters

T New measurement - AntScope - O *
File Edit View Configure Measurement Help
Dz o S B ® TR ous?
Range: 10.125 3 0.035 MHZ, 400 |pointy FWR
Z0 5 50.0 Ohm
9
4]
7
Fg = 10.125 MHz
6 SWR= 1.18
Return loss = 21.59 dB
£ =591 + j0.2 Ohm
|Z] = 39.1 Ohm
5 frhol =008 phase=14"*
Zpar = 58.1 Ohm
Cable: Length(1/4) = 4.89 m, Length(1/2) = .77 m
4
1.5 P e
] -
1
10100 10125 MHz 10150




20 Meters

i Mew measurement - AntScope X
File Edit View Configure Measurement Help
D o S N3 w TR s ®
Range: 14175 + 0.175§MHZ, 400 |pointy WR
Z0 4 50.0 Ohm
9
i f
! i
Return loss = (13.37 dB
6 \ Z=619-j21.3 Ohm
|Z] = 65.5 Ohm
[rho| = 0.21, phase =|-50.07°
C =525 pF
5 Zpar= - 12011 Ohm
Cpar = 55 pF
Cable: Length(1/4) =/ 349 m, Length(1/2) = 698 m
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17 Meters

i Mew measurement - AntScope - X
Eile Edit View Configure Measurement Help
DEEbo S EG @ TFews ?
Ranpe: 18.118 = 0.050 MHZ, 400 pointg WR
Z0 4 50.0 Ohm
9
8
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6
5
Fg = 18.118 MHz
SWR = 1.26
4 Return loss =/ 18.82 dB
7 =439-j8.9 Ohm
[£] = 44.8 Ohm
[rho| 5 0,11, phase = -118.9/°
C =942 pF
3 Zpar = 45.7 - [224.8 Ohm
Cpar = 39 pF
h-.,__- Cable: Length(1/4) 5 2.73 m, Length(1/2) = 546 m
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15 Meters

T Mew measurement - AntScope - X
File Edit View Configure Measurement Help
D o S N3 w TR s ®
Ranpe: 21.225 3 0.225 MHZ, 400 |pointy WR
Z0 H50.0 Ohm
9
\ Cpar= 18 pF /
G \ Cablerbength(1/4) = 2.33 m, Length({1/2} = 4.66 m/
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12 Meters

i Mew measurement - AntScope X
Eile Edit View Configure Measurement Help
Dz o S B0 TR s ?
Ranpge: 24 940 + 0.030 MHZ, 400 |pointy | WR
Z0 94 50.0 Ohm |
9 !
° |
Fg = 24.937 MHz
WR = 216
7 Return loss = 8.68 dB
Z = 26.8+17.3 Ohm
IZ] = 31.9 Ohm
|rho| = 0.3V, phase = 130.6
6 L=110nH
Zpar = 37.9 + j38.7 Ohm
Lpar = 373 nH
Cable: Length(1/4) = 1.98 m, Length(1/2) = 3.97 m
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